https://neetmedicalacademy.blogspot.com



https://neetmedicalacademy.blogspot.com



https://neetmedicalacademy.blogspot.com



https://neetmedicalacademy.blogspot.com
































































































































































































































































































https://neetmedicalacademy.blogspot.com






















































































































































https://neetmedicalacademy.blogspot.com


























































































































































































































































































































































































































































































































































































































































































| Respiration in Plants |

74. Pyruvate (C3)
A
B
Acetyl-CoA = 2C
CoA
NADH + H'". OAA=4C Citric acid
g :
NAD
Malic acid
FADH; NAD
Krebs Cycle
FAD )
COo; NADH +H
Succinic acid a-Ketoglutaric acid
(4c)

/ (5C)

ADP +iP

A NADH +H’
Identify by ‘A"and ‘B’
A B
(@ NADH + H* CO,
(b) FAD* FADH + H*
(c) CO, NADH + H*
- (d) CO, FADH + H*
75.  Attheend of the Kreb's cycle, but before the electron transport chain, the oxidation of glucose has produced a net gain of ~
(a) 3CO,, 5 NADH,, 1 FADH,, 2ATP (b) 6CO,, 10 NADH,, 2 FADH,, 4 ATP
(c) 6CO,, 10 NADH,, 2 FADH,, 38 ATP (d) None of the above is correct

76.  If oxygen is labelled with 180, which molecule will become radioactive as glycolysis, Kreb's cycle and oxidative
phosphorylation are completed ~

(a) Water (b)CO, (c)ATP (d) NADH,,
77.  Aliof these events occur in the conversion of pyruvic acid into Acetyl CoA except -
(a) Production of CO, (b) Conversion of 3-carbon molecule into a 2C molecule

(c) Pyruvate dehydrogenase enzyme complex, several factors like Mg*2, NAD* and CoA are needed

(d) Site of the reaction is cytosol

Pyruvate
(Substance = S)

78.

Acetyl CoA
CoA

OAA Citrate
(Substance U) Substance =T

Krebs Cycle 1

a- ketoglutaric

Aacid
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| Respiration in Plants |

87.  Inyeast cell, if TCA cycle is shut down due to lack of O,, glycolysis will prdbably -

(a) Shut down (b) Increase

(c) Produce more ATP / glucose molecule (d) Produce more NADH,, / glucose molecule
88. O,isusedby-

(a) Citric acid cycle (b) Electron transport chain

(c) Substrate level phosphorylation (d) ATP synthase

89. Water is the by-product of cellular respiration. The water is produced as a result of —
(a) Conversion of pyruvate to acetyl CoA
(b) Conversion of glucose to pyruvate
(c) Combining carbon dioxide with protons
(d) The reduction of oxygen at the end of electron transport chain
90. The chemiosmotic generation of ATP is driven by —
(a) Osmotic movement from low OP to high OP
(b) Oxidative phosphorylation
(c)Adifference in H* concentration on both side of membrane

(d) None
91. MostATP in our bodies is made by ~
(a) Glycolysis (b) TCAcycle (c) Burning fat (d) ATP synthase
‘92, The main purpose of electron transport chain is to —
(a) Cycle NADH + H* back to NAD* (b) Use the intermediates from TCA cycle
(c) breakdown pyruvate (d) All
93. Terminal e~ acceptor of e~ transport is —
(@) CO, (b) CgH 4206 (c)H,O (d)O,

94.  Which statement concerning ATP synthesis is true?
{a) ATP can be synthesised through substrate ievel phosphorylation, photophosphorylation and oxidative phosphorylation

(b) The proton-motive force is the establishment of proton gradients and electrochemical potentials across the inner
membrane

(c) Proton-motice force is essential for back flow of H* from outer chamber of matrix of mitochondria through proton
channel (Fg) of F-F 1 particle to produce ATP

(d)All
95. Choose the false statement —-
(a) Respiratory chain uses O, as final hydrogen acceptor
(b) Ali living cells perform glycolysis
(c) Glycolysis can operate in presence or absence of O,
(d) CN~ cannot stop chemiosmosis
96. Go through the following statements about the chemiosmotic mechanism -
1. Protons are pumped across the membrane ,
I1. Protons return through the membrane by way of a channel protein.
HI. ATP is required for protons to return.
V. The membrane in question is the inner mitochondrial membrane.
V. Proton pumping is associated with the respiratory chain
(a) Vis incorrect (b) lll is incorrect (c)All are incorrect except Il (d) Only lil is correct
97. VWch of the following is not true of oxidative phosphorylation?
(a) It uses oxygen as the initial e~ donor
(b) It involves the redox reactions of electron transport chain
(c) ltinvolves an ATP synthase located in the inner mitochondrial membrane
(d) It depends on chemiosmosis
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| Respiration in Plants |

(c) The multistep approach is the only way to convert glucose to carbon dioxide.
(d) The multistep approach makes better use of the potential energy in the reaction.

135. Why does NADH donate electrons to the beginning of the electron transport chain, whereas FADH, donates electrons
to the middle of the chain?

(a) FADH,, is more rapidly oxidized than NADH. (b) NADH has more electrons to donate than FADH,.
(c) FADH, has more reducing potential than NADH. (d) NADH has more potential energy than FADH,,.
136. When do cells switch from cellular respiration to fermentation?

(a) when electron acceptors are not available (b) when NADH and FADHZ2 supplies are low
(c) when the proton-motive force runs down (d) when pyruvate is not available
137.  Inwhich one of the following processes CO, in not released ?
(a) Aerobic respiration in plants (b) Aerobic respiration in animals
(c) Alcohalic fermentation (d) Lactate fermentation

138. Match the organic compounds listed under Column - | with the explanation given under Column - Il. Choose the
appropriate option from th given choices.

Column - { ‘ Column - li
A. phosphoenol pyruvate (PEP) B-carbon compound
B. Iiibulose biphosphate (RuBP) 2-carbon compound -
C. Oxaloacetic acid (OAA) 4-carbon compound
D. Acetyl co-enzyme-A 5-carbon compound
t. 3-carbon compound

w °"a o

(@A-t,B-s,C-r,D-q (L)A-t,B-s,C-r,D-p
(c)A-t,B-p,C-q,D-r (dyA-g,B-r,C-s,D-t

139. How many ATP are produced when one molecule of FADH, is oxidized to FAD through Electron Transport System?
(a)2 (b)3 (c)1 (d)4

140. Outof 38 molecules of ATP produced upon aerobic respiration of glucose, the break up in ATP production in glycolysis
(P), pyruvate to acetyl-CoA formation (Q) and Krebs cycle (R) is as follows:

(a)P=2,Q=6,R=30 b)P=8,Q=6,R=24 (c)P=8,Q=10R=20(d)P=2,Q=12,R=24
141, Inner membrane of mitochondria is permeable to

(a) glucose (b) fructose (c) sucrose (d)ATP
142. Given below is the equation of glycolytic pathway. identify A, B and C.

Phosphoenol | K'.Mg*,B
Pyruvate ®4

(a) A- ADP; B - Pyruvate kinase; C - Pyruvic acid
(b)A-ATP; B - Enolase; C - PGA; C - PGA
“{c) A-ATP; B - PGAL dehydrogenase; C - PGAL
(d) A- ADP; B - Pyruvate dikinase; C - PGA
143. How many ATP are produced by the complete oxidation of two molecules of isocitrate by ETS only?
(a)24 (b)11 - (c) 30 (d)22
144. In which one of the following reactions of glycolysis, oxidation takes place?
(a) Glucose 6-phosphate to fructose 6-phosphate
(b) Fructose 6-phosphate to fructose 1, 6-biphosphate
(c) 1, 3-biphosphoglycerate to 3-phosphoglyceric acid
{d) 3-phosphoglyceraldehyde to 1, 3-biphosphoglycerate
145.  Why is aerobic respiration of a molecule of glucose considered more efficient than anaerobic respiration?
(a) More ATP is produced (b) More carbon dioxide is produced
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LDigestion and Absorptivﬂ

(a) Salivary maltase —» carboxy peptidase —» trypsinogen
(b) Pancreatic amylase —» salivary amylase — lipases
(c) Disaccharidase like maltase —» lipases —» nucleases
(d) Salivary amylase —» pancreatic amylase — disaccharidases
187.  Which of the following organs does not produce any digestive enzymes?

(a) Salivary gland (b) Pancreas (c) Liver (d) Stomach
188. Choose the correct answer among the following Brush border enzymes are
(a) Maltase, sucrase, lactase (b) Trypsin, chymotrypsin, carboxypeptidase
(c) Amylase, nuclease, lipase (d) Nucleotidase, nucleosidase, amylase
189 Read the statements A, B, C and D given below. Select the option which correctly states whether the statement is
True (T) or False (F).

A. Gastric glands of the stomach mucosa have oxyntic / chief cells which secrete HCI.
B. Rennin is a proteolytic enzyme found in gastric juice in infants which helps in the digestion of milk proteins.
C. Fructose and some amino acids like glycine are absorbed with the help of carrier ions Na+ called facilitated

transport.
D. Vomiting is a reflex action controlled by the vomit centre in hypothalamus.
Options —
A B c D
@ T T T F
by F T T F .
{c) F F T T
d F T F T

190. Which of the following is / are characteristic of saliva?
A. It contains Na*, K*, CI~, HCO5™. Its pH is 6.8
B. Secretion rate is increased by sympathetic nervous system.
C. Characterised by salivary amylase and lingual lipase.
D. About 80% starch is hydrolysed in buccal cavity by a-salivary amylase.
Options
(a)Aand B arecorrect (b)BandCarecorrect (c)BandD arecorrect (d)AandC are correct
191.  Mark the incorrect statement about the enzyme carboxypeptidase
(a) Zinc is the co-factor for this proteolytic enzyme
(b) It is exopeptidase
(c) It cleaves the peptide bond at N-terminal end of the polypeptide chain
(d) It is an enzyme of pancreatic juice .
192. Ifthe oxyntic cells of gastric glands are rendered non-functionatl then which of the following process is / are affected?
A. Digestion of proteins in alkaline medium
B. Absorption of vitamin B4,
C. Digestion of starch
D. Digestion of fats by lingual lipase

(a) Aonly (b)Aand B (c)B - (d)A,B,CandD
193. Study the following reactions given below catalysed by enzymes A, B, C and D.
i. Maltose _5_> Glucose + Glucose
II. Starch —§—> Maltose + Isomaltose
C

I1l. Nucleic acids ——» Nucleotides
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LDigestion and Absorption]

209. Synthesis of glucose from sources other than carbohydrate is called
(a) Glycolysis (b) Glycogenesis (c) Gluconeogenesis (d) Glycogenolysis
210. Observe the given figure having arrows to illustrate the movement of absorbed food in the body. Identify X and Y and

select the correct option regarding the presence or absence of sugars, amino acids and fatty acids / glycerol in
absorbed foodin X and Y.

Left subclavian vein

t Aorta
. Y

Intestine

Sugars Amino acids Fatty acids / glycerol
X Y X Y X Y

(@) Yes No No No Yes Yes

(b) Yes No Yes No No Yes

() No Yes No Yes No Yes

(d) Yes Yes No No Yes Yes
211.  Acid neutralizer present in mucus of saliva:

(a) Bicarbonate ion (b) Thiocyanate (c) Sodium acetate (d) Sodium hydroxide
212. Enamelis composed principally of

(a) Ca phosphate (b) Ca sulphate (c) Ca chloride (d) Na phosphate

213. Gothrough the statements.
|. Glisson’s capsule is characteristic feature of mammalian liver.
Il.The opening of hepatopancreatic ampulla is guarded by sphincter of Oddi.
Ilf. Fatty acids and glycerol cannot reach the blood stream directly.
IV. Fatty acids and glycerol are insoluble in water
Which is / are correct? ,
(a) Only statement - | is correct (b) Only statement - Il is correct
(c) Only statement - lll is correct (d) All statements are correct
214. Select the correct sequence of the flow of bile from the liver.
(a) Hepatic ducts —» Gall bladder —» Cystic duct —» Bile duct —» Hepatopancreatic ampulla —» Duodenum.
(b) Hepatic ducts —» Cystic duct —» Hepatopancreatic ampulla —» Bile duct —» Gall bladder —» Duodenum.
(c) Hepatic ducts —» Cystic duct —» Bile duct —» Gall bladder — Hepatopancreatic ampulla —» Duodenum.
(d) Hepatic ducts —» Bile duct —» Hepatopancreatic ampulla —» Cystic duct —» Gall bladder —» Duodenum.
215. Mucosa membrane of alimentary canal consists of
(a) muscular mucosa (b) lamina propria (c) epithelium (d) all of these.
216. Gothrough the following statements.
(i) Na* is coupled with absorption of glucose & amino acids
(i) Most ions are actively absorbed along the length of small intestine
(iii) Water Absorption — 95% of water is absorbed in the small intestines by osmosis.
Which statement is correct?
(a) (i) and (ii) only (b) (i) and (iii) only - (c) All are correct (d) None are correct
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| Body Fluids and Circulation |

159.  Which one of the foliowing type of cells lack nucleus?

(a) RBC (b) Neutrophils (c) Eosinophils (d) Monocytes

160. Which one of the following blood cells is involved in antibody production. ,
(a) B-Lymphocytes (b) T-Lymphocytes (c)RBC (d) Neutrophils

161. The cardiac impulse is initiated and conducted further upto ventricle. The correct sequence of conduction of impulse
is

(a) SANode AV Node Purkinje fiber AV Bundle
(b) S ANode Purkinje fiber AV Node AV Bundle
(c) SANode AV Node AV Bundle Purkinje fiber
(d) S ANode Purkinje fiber AV Bundle AV Node

162. The cells involved in inflammatory reactions are

(a) Basophils (b) Neutrophils (c) Eosinophils (d) Lymphocytes
163. The second heart sound (dubb) is associated with the closure of

(a) Tricuspid valve (b) Semilunar valves

(c) Bicuspid valve (d) Tricuspid and bicuspid valves.

164. Which of the following correctly explains a phase/ event in cardiac cycle in a standard electrocardiogram?
(a) QRS complex indicates atrial contraction.
(b) QRS complex indicates ventricular contraction.
(c) Time between S and T represents atrial systole.
(d) P-wave indicates beginning of ventricular contraction.
165. Which of the following statements is incorrect?
' (a) A person of ‘O’ blood group has anti ‘A’ and anti ‘B’ antibodies in his blood plasma.
{b) A person of ‘B’ blood group can't donate blood to a person of ‘A’ blood group.
(c) Blood group is designated on the basis of the presence of antibodies in the blood plasma.
(d) Aperson of AB blood group is universal recipient.
166. What would be the cardiac output of a person having 72 heart beats per minute and a stroke volume of 50 mi?
(a) 360 mL {(b) 3600 mL {(c) 7200 mL : (d) 5000 mL

167. Match the terms given under Column ‘A with their functions given under Column ‘B’ and select the answer from the
options given below:

Column A Column B

(A) Lymphatic System  i. Carries oxygenated blood

(B) Pulmonary vein ii. Immune Response

{C) Thrombocytes iii. To drain back the tissue fluid to the circulatory system

(D) Lymphocytes .iv. Coagulation of biood

Options.

(@) A-ii, B-i, C-iii, D-iv (b) A-iit, B-i, C-iv, D-ii (c) A-iii, B-i, C-iii, D-iv {d) A-ii, B-i, C-iii, D-iv

168. Read the following statements and choose the correct option
Statement 1 : Atria receive blood from all parts of the body which subsequently flows to ventricles.
Statement 2 : Action potential generated at sino-atrial node passes from atria to ventricles.
(a) Action mentioned in Statement 1 is dependent on action mentioned in Statement 2
(b) Action mentioned in Statement 2 is dependent on action mentioned in Statement 1
{c) Action mentioned in Statements 1 and 2 are independent of each other.
(d) Action mentioned in Statements 1 and 2 are synchronous.
169. Go through the following statements
I. The kind of epithelium which forms the inner walls of blood vessels is Squamous epithelium
If. Murmur is a disorder of Heart vaives
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[Body Fluids and Circulation]

178.

179.

180.

181.

182.

183.

{(d) both A and B antigens in the plasma but no antibodies.
The figure shows a human blood cell. Identify it and give its characteristics.

Blood Celi Characteristics
(@  Monocyte Life span 3 days, produce antibodies
{b)  Basophil Secrete serotonin, inflammatory response
(c)  B-lymphocyte Form about 20% of blood cells involved in immune response
(d)  Neutrophil Most abundant blood cell, phagocytic

Figure shows blood circulation in humans with labels Ato D. Select the option which gives correct identification of label
and functions of the part:

(a) A- Artery — thick walled and blood flows evenly

(b) B — Capillary — thin without muscle layers and wall two cell thick

{¢) C —Vein — thin walled and blood flows in jerks/spurts

(d) D~ Pulmonary vein - takes oxygenated blood to heart PO, = 95 mmHg
Which valve is present at the opening of coronary sinus?

(a) Mitral valve (b) Eustachian valve (c) Thebesian valve {d) Tricuspid valve
Which blood cells can engulf bacteria by phagocytosis?

(a) Eosinophil and Basophil (b) Basophil and Lymphocyte

(c) Neutrophil and Monocyte (d) Neutrophil and Lymphocyte

Which of the following factor(s) increase blood pressure ?

A. Increase of cardiac output B. Constriction of blood vessel

C. Activation of parasympathetic nerve C. Increase of blood volume

(a)A, B,Darecorrect (b)B,C,Darecorrect (c)A, C,Darecorrect (d)Allare correct
Which type of blood contains A antibodies (but not B antibodies) in the plasma and lack Rh antigen?
{a) AB negative (b) A positive {(c) B negative {d) O positive
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Body Fluids and Circulation

215.

216.

217.

218.

219.

220.

221.

222.

223.

Go through the following diagram of two mammalian blood vessels (A and B) connected by a capillary bed. Blood
pressure is higher in B than in A. The arrows indicate the direction of net diffusion for O, and CO,.

Capillary bed is part of Vein Blood flow from
(@) Systemic circuit A BtoA
(b) Pulmonary circuit B AtoB
(c) Either Systemic circuit or Pulmonary circuit A BtoA
(d) Either Systemic circuit or Pulmonary circuit B AtoB

In a normal ECG recording, heart sound will occur
(a) On the P wave and at the end of QRS complex (b) On the QRS complex and at the end of T wave
(c) At the end of P wave and on the T wave (d) At the end of QRS complex and on T wave

On the ECG recording the maximum ventricular pressure would be

(a) At QRS complex (b)At T wave

(c) Between QRS complex and T wave (d) Between P and QRS complex
Valves occurin

(a)Arteries, veins and auricles (b) Atria, ventricles and veins
(ciArteries, veins and ventricles (d) SA mode, AV node and veins.

A patient is hooked upto a monitoring machine that shows voltage traces on a screen and make the sound “..... pip
..... pip ..... pip ..... peeeeeee” as the patient goes into —

(a) Heart failure (b) Heart attack (c) Cardiac arrest (d) Al

What is the state of heart in the interval after end of second heart sound and before beginning of first heart sound
again?

(a) Ventricle remain systole auricles undergo first diastole and the systole

(b) Ventricle remain in diastole, auricles undergoes first diastole and then systole
(c) Ventricles undergo first systole and then diastole, auricles remain in diastole.
(d) Ventricles remain in diastole, auricles remain in systole. '

Reduction in pH of blood will :-

(a) reduce the rate of heart beat. (b) reduce the blood supply to the brain.
(c) decrease the affinity of hemoglobin with oxygen. (d) release bicarbonate ions by the liver.
Blood pressure in the pulmonary artery is :-

(a) same as that in the aorta. (b) mare than that in the carotid.

(c) more than that in the puimonary vein. (d) less than that in the venae cavae.
Serum differs from blood in :-

(a) Lacking clotting factors (b) Lacking antibodies

(c) Lacking globulins (d) Lacking albumins
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|Body Fluids and Circulation |

V. Heart is autoexcitable

Options: '
(a) Only IV (b)landll (c)llland IV (d) Only Il
238. Venous valves are responsible for . :
(a) preventing anterograde flow. (b) channeling blood away from the heart. )
(c) channeling blood toward the heart. (d) preventing blood from re-entering a ventricle.
239. What vessels hold the largest percentage of the blood supply?
(a) artery (b) arteriole (c) capillary (d) vein
240. As blood travels from arteries to veins,
(a) pressure builds. (b) pressure drops.
(c) flow becomes turbulent. (d) diameter of the blood vessels gets progressively smaller.

241. Theblood pressure inside capillaries connected to the arterioles and venules is 32 mm Hg and 7mm Hg respeqtive\_lx.,‘
What will be the pressure of interstitial fluid? -

(a)22 mm Hg (b) 0 mm Hg (c) 7 mm Hg ' (d) 32 mm Hg
242. Blood pressure is highestin __ and lowestin .
(a) Arteries; Veins (b) Arteries; Ventricles _
(c) Arteries; Relaxed atria (d) Arterioles; Veins R
243. Blood flow velocity is slowest in the '
‘ (a) Arteries (b) Arterioles (c) Capillaries (d) Venules
244, Arteries have and walls when compared to veins
(a) Thicker, stronger (b) Thicker;, weaker (¢) Thinner; stronger (d) Thinner; weaker
245. Movement of lymph within the lymphatic vessels is resuit of
(a) High blood pressure

(b) Contraction of skeletal muscles
(c) Contraction of smooth muscles found around the lymphatic vessels
(d) Both (a) and (c) only

246. Lymph (tissue fluid) is composed of

(a) Plasma (b) Large proteins (c) Formed elements (d) All of them
247. Which blood vessels have walls only one celi thick?

(a) Capillaries (b) Venules (c) Veins (d) Arterioles
248. Which phase of the ECG indicates ventricular excitation and contraction?

(a) P wave (b) QRS wave () T wave (d) XYZ wave
249.  Which of the following is most responsible for the movement of blood to the lungs?

(a) Left ventricle (b) Left atrium (c) Right atrium (d) Right ventricie

250. The blood from a person with an AB blood type
(@) Would agglutinate with both anti-A and anti-B antibodies
(b) Would not agglutinate with either anti-A and anti-B antibodies
(c) Would agglutinate with anti-A antibodies only
(d) Would agglutinate with anti-B antibodies only -
251. Innervation of heart in a living animals is primarily meant for .—
(a) Initiation of heart beat (b) Regulation of heart beat
(c) Release of acetylcholine only (d) Release of adrenalineonly
252. Considering size, which of the following series is the most appropriate ?
(a) bacteria > viruses > yeast
(b) hornwords > mosses > liverworts
(c) smooth muscle cell < striated muscle cell < cardiac muscle cell
(d) platelets < human erythrocytes < human eosinophils
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262. When the ECG of a person was analysed, the Q and R waves was found to be enlarged. It could be due to
(a) myocardial infarction (b) hypertension {c) cardiac arrest (d) bradycardia.
263. Which of the following statements is correct for cardiac cycle?
(a) The ventricular systole is stimulated by the SA node.
(b) The first heart sound coincides with the closure of semilunar valves and relaxation of ventricles.
(c) The blood flows from auricles to ventricles during the atrial systole via bicuspid and tricuspid valves.

- {d) The fall in ventricular pressure causes the closure of semilunar vaive to prevent the back-flow of blood into
ventricles.

264. Selectimportant functions of lymph.
(i) It absorbs and transports fat and fat soluble vitamins from intestine.
(ii) It regulates the pH of the body.
(iii) It transports nutrients, hormones, etc., to the body cell.
(iv) It destroys invading microorganisms.

(a) (i) only (b) (i), (iii) and (iv) () (i) and (ii) only (d) (i), (ii), (iii) and (iv)
265. If the heartrate of a person has increased but the stroke volume is same. The cardiac output will
(a)increase (b) decrease (c) remains same (d) firstincrease then decrease.

266. Which of the following statements is correct?

(a) Peripheral circulation is the flow of deoxygenated blood from the right ventricle to the fungs and return of oxygenated
blood from the lungs to the left atrium.

(b) Pulmonary circulation carries deoxygenated blood from puimonary and bronchial arteries.
(c) Hepatic portal system is a unique vascular connection which exists between digestive tract and heart.

(d) Coronary circulation is the flow of oxygenated blood from ascending aorta to heart muscle and return of deoxygenated
blood from heart muscle to the right atrium.

267. dentify the incorrect statement regarding plasma:
(a) It constitutes about 55% of the blood
{(b) The most common piasma protein is albumin
(¢) Globulins are mainly responsible for colloid osmatic pressure in the blood
(d) If clotting factors are removed from the plasma, what remains is the serum
268. Match each item in COLUMN | with one in COLUMN H and choose the correct answer from the codes given below:

COLUMN I COLUMN I
[WBC] [Function]
A. Monocyte I. Inflammatory responses
B. Basophils Il. Allergic reactions
C. Eosinophils Ill. Pahgocytosis
D. Lymphocytes IV. Adaptive immunity
Codes
A B C D
(@ ! v [
b ] I\ Il
() Mm i I v
d |1 \Y fl [f

269. If type A agglutinogens are present on the surface of RBCs of a person but type B are absent, then what type of
agglutinin will be present in the plasma of this person?

(a) Anti-A (b) Anti-B (c) Nil (d) Both Anti-A and Anti-B
270. What class of antibodies are responsibie for the condition — erythroblastosis fetalis? :
(a)IgA (b)igM (c)1gb (d)1gG
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282. All the components of the nodal tissue are autoexcitable. Why does the SA node act as the normal pacemaker’? -
{(a) SA node has the highest rate of depolarisation. ‘
{b) SA node has the lowest rate of depolarisation. ,
{c) SA node is the only component to generate the threshold potential.
(d) Only SA node can convey the action potential to the other components.

283. Aspecialised nodal tissue embedded in the lower corner of the right atrium, close to Atrio-ventricular septum, delays
the spreading of impulses to heart apex for about 0.1 sec. This delay allows

(a) the atria to empty completely. (b) blood to enter aorta.
(c) the ventricles to empty completely. (d) blood to enter pulmonary arteries. -

NN
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